



कमला जल विदयुत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project. Vill. & PO: Boasimla, PS: Raga, Distt.: Kamle, Arunachal Pradesh 791120

E-mail: khep@nhpc.nic.in

No. NH/KHEP/P&C/2025/ 340

Date: 03.01.2025

### Letter of Award

To,

M/s Sood and Company, H. no. 471, Giani Zail Singh Nagar, Ropar, Rupnagar, Punjab, 140001.

Subject: Letter of Award for the work "Additional Geological Exploratory Drilling of 05 Nos. holes (DDH-48,49,50,51,52) at Kamala HE Project, Tamen, Arunachal Pradesh".

Reference: (i) NIT No. NH/KHEP/PNC/NIT/2024/206 dated 06.09.2024

(ii) NHPC letter No. NH/KHEP/P&C/2024/319 dated 19.12.2024

(iii) Your letter No. 328-SC-24-25 dated 23.12.2024 received through e-mail

(iv) Your letter No. 335-SC-24-25 dated 02.01.2025 received through e-mail

#### Dear Sir,

Please refer the NIT, your tender offer under reference, in this connection NHPC Limited, Kamala H.E. Project is pleased to place the letter of award for the above work for an amount of Rs.47,10,688/- (Rupees Forty Seven Lakhs Ten Thousand Six Hundred Eighty-Eight only) including all taxes and duties as per the terms and conditions detailed herein under. The Schedule of Quantities and Prices is enclosed as Annexure- I.

### **Terms and Conditions:**

- **Time Schedule:** The Schedule completion period of the work is Five (05) months from the date of commencement of work as defined in Clause 14.0 of GCC (General Condition of Contract).
- 2. Engineer-in-Charge: Deputy General Manager (Civil)-Works, Kamala H.E. Project, Boasimla, Distt. -Kamle, Arunachal Pradesh shall be the Engineer-in-Charge of the aforesaid contract.
- **Paying Authority**: Senior Manager (Finance), NHPC Ltd., RO Itanagar.
- These 'Terms and Conditions', and 'Schedule of Quantities and Prices' shall form the part of this LOA. Rest all other terms and conditions of Notice Inviting Tender (NIT), Instruction to bidders (ITB), General Conditions of Contract (GCC), Special Conditions of Contract (SCC), Technical Specifications, etc. shall remain the same and shall also form part of LOA.
- You are requested to attend the office of the undersigned within 28 (Twenty-Eight) days from the date of issue of this letter along with Non-Judicial Stamp Paper of the requisite value for signing the agreement of the said work. The letter of award shall also be part of the agreement. The agreement will be signed between NHPC Limited and your firm after the performance security deposit of 02% (Two percent) of the Accepted Contract Price and an additional performance security of 03% (Three percent) of Rs. 27,95,388.41,



















कमला जल विदयुत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project. Vill. & PO: Boasimla, PS: Raga, Distt.: Kamle, Arunachal Pradesh 791120

E-mail: khep@nhpc.nic.in

amounting to Rs.83,862.00 (Rupees Eighty-Three Thousand Eight Hundred Sixty-Two only). is required for abnormally low-rated items.

- 6. Positive quantity deviations for items at Sl. Nos. 01 and 02 of the BOQ will not be considered during work execution and shall be strictly restricted to the quantities specified in the BOQ. Any positive deviation of above items will require prior approval from the Competent Authority.
- 7. Retention money shall be deducted by the Engineer-in-Charge from the interim bills of the Contractor @ 3% (Three percent) of the total value of each bill of the work done (including those of price variation) towards Security Deposit.
- 8. Please acknowledge the receipt of this letter of Award and return duplicate copy of this letter within 7 (seven) days duly signed on each page as a token of acceptance of the order and terms & conditions of this offer. If the duplicate copy is not received, it will be presumed that the same has been accepted.

Encl.: Annexure-I (Schedule of Quantities and Prices)

Yours faithfully,

**Deputy General Manager (Civil)** 

Smin of

# Copy To:

- 1. Executive Director, RO, Itanagar For kind information please.
- 2. GM (HOP), Kamala HE Project For kind information please.
- 3. DGM (Civil)-Works, Kamala HE Project; With a request to ensure avoiding positive deviation in item no. 1 &2 during execution of the work.
- 4. SM (Fin.) RO, Itanagar For kind information please
- 5. Work File.

















कमला जल विद्युत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project, Vill. & PO: Boasimla, PS: Raga, Distt.: Kamle, Arunachal Pradesh 791120

E-mail: khep@nhpc.nic.in

# **Annexure-I**

## **Schedule of Quantities and Prices**

Name of Work: "Additional Geological Exploratory Drilling of 05 Nos. holes (DDH-48,49,50,51,52) at Kamala HE Project, Tamen, Arunachal Pradesh".

LOA No: No. NH/KHEP/CIVIL/2025/340 Date: 03.01.2025

Sl. No	Description of item	Unit	Qty	RATE including GST@18 % & BOCW W Cess @1% (Rs.)	TOTAL AMOUNT With Taxes in (Rs.)
1	Transportation cost of Drilling equipment like Machines, Pumps and accessories by 10 T capacity motor vehicles including loading, unloading and security complete. (a) up to 100Km	Each Trip	4.00	97000.00	388000.00
2	Transportation cost of Drilling equipment like Machines, Pumps and accessories by 10 T capacity motor vehicles including loading, unloading and security complete. (b) add extra for every 50Km	Each Trip	32.88	4850.00	159468.00
3	Making Approach Path and Cutting of Steps in hilley terrain including cost of labour and T&P complete for 3.0 m wide path	per 100 m length	47.60	5000.00	238000.00
4	Dismantling, transportation and assembling of Drilling Machines of different capacity complete by head load including cost of labour, T&P, etc as per directions of engineer-in-charge. (b) up to 500 m lead	Each Machine	5.00	30000.00	150000.00



















कमला जल विद्युत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project, Vill. & PO: Boasimla, PS: Raga, Distt.: Kamle, Arunachal Pradesh 791120

E-mail: khep@nhpc.nic.in

SI. No	Description of item	Unit	Qty	RATE including GST@18 % & BOCW W Cess @1% (Rs.)	TOTAL AMOUNT With Taxes in (Rs.)
5	Laying of Temporary Water Supply pipelines (25 mm diameter and above) of varying lengths from the nearest water source and construction of Temporary Water Retaining Pit of size 2 m x 1 m x 0.5 m complete with cost of all labour, material, T&P and transport as per directions of engineer-in-charge.Including the cost of GI pipes and fittings: upto 200m	Each	1.00	15000.00	15000.00
6	Laying of Temporary Water Supply pipelines (25 mm diameter and above) of varying lengths from the nearest water source and construction of Temporary Water Retaining Pit of size 2 m x 1 m x 0.5 m complete with cost of all labour, material, T&P and transport as per directions of engineer-in-charge.Including the cost of GI pipes and fittings: upto 1km	Each	1.00	15000.00	15000.00
7	Laying of Temporary Water Supply pipelines (25 mm diameter and above) of varying lengths from the nearest water source and construction of Temporary Water Retaining Pit of size 2 m x 1 m x 0.5 m complete with cost of all labour, material, T&P and transport as per directions of engineer-in-charge.Including the cost of GI pipes and fittings: upto 2km	Each	2.00	15000.00	30000.00
8	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge.In hard rock formation:upto 100m	Meter	10.00	13300.00	133000.00

स्वहित एवं राष्ट्रहित में ऊर्जा बचाएं / Save Energy for Benefit of Self and Nation बिजली से संबंधित शिकायतों के लिए 1912 डायल करें / Dial 1912 for Complaints on Electricity CIN: L40101HR1975GOI032564





depth

















कमला जल विद्युत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project, Vill. & PO: Boasimla, PS: Raga, Distt.: Kamle, Arunachal Pradesh 791120

E-mail:	khep@nhpc.nic.in	

~-		1		T = . ==	T ====================================
Sl. No	Description of item	Unit	Qty	RATE including GST@18 % & BOCW W Cess @1% (Rs.)	TOTAL AMOUNT With Taxes in (Rs.)
9	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge. In overburden soil and sandy strata mixed with boulders upto 100m depth.	Meter	40.00	12300.00	492000.00
10	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge.In hard rock formation up to 100 m depth.	Meter	10.00	13300.00	133000.00
11	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge. In overburden soil and sandy strata mixed with boulders upto 100m depth.	meter	40.00	12300.00	492000.00



















कमला जल विद्युत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project, Vill. & PO: Boasimla, PS: Raga,

Distt.: Kamle, Arunachal Pradesh 791120 E-mail: khep@nhpc.nic.in

Sl. No	Description of item	Unit	Qty	RATE including GST@18 % & BOCW W Cess @1% (Rs.)	TOTAL AMOUNT With Taxes in (Rs.)
12	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge.In hard rock formation up to 100 m depth.	meter	10.00	13300.00	133000.00
13	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge. In overburden soil and sandy strata mixed with boulders upto 100m depth.	meter	40.00	12300.00	492000.00
14	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge.In hard rock formation up to 100 m depth.	meter	10.00	13300.00	133000.00





















कमला जल विद्युत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project, Vill. & PO: Boasimla, PS: Raga,

Distt.: Kamle, Arunachal Pradesh 791120 E-mail: khep@nhpc.nic.in

Sl. No	Description of item	Unit	Qty	RATE including GST@18 % & BOCW W Cess @1% (Rs.)	TOTAL AMOUNT With Taxes in (Rs.)
15	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge. In overburden soil and sandy strata mixed with boulders upto 100m depth.	meter	30.00	12300.00	369000.00
16	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge.In hard rock formation up to 100 m depth.	meter	10.00	13300.00	133000.00
17	Carrying out of Diamond Core Drilling in NX size in different formations and at locations other than under water not involving construction of floating platform including preservation of cores in core boxes of standard dimensions made of seasoned local wood as per BIS standards, their marking and taking colour photographs of the preserved cores etc complete with cost of all labour, T&P and POL as per directions of engineer-in-Charge. In overburden soil and sandy strata mixed with boulders upto 100m depth.	meter	30.00	12300.00	369000.00



















कमला जल विद्युत परियोजना, गांव & डाकघर: बोआसिमला, थाना:रागा, जिला:कामले, अरुणाचल प्रदेश- ७९११२० Kamala H.E. Project, Vill. & PO: Boasimla, PS: Raga,

Distt.: Kamle, Arunachal Pradesh 791120 E-mail: khep@nhpc.nic.in

Sl. No	Description of item	Unit	Qty	RATE including GST@18 % & BOCW W Cess @1% (Rs.)	TOTAL AMOUNT With Taxes in (Rs.)
18	Water permeability tests at different depth: upto 100m.	Each	137.00	5000.00	685000.00
19	Fabrication and supply of seasoned wooden Core Box of size 1.5 m x 0.3 m x 0.1 m with wooden separators, hinges, handles etc. complete in all respect as per directions of engineer-in-charge.	Each	39.00	3000.00	117000.00
20	Providing and laying cement concrete 1:2:4(1cement:2 Coarse sand:4 stone aggregate 20mm nominal size) excluding the cost of centring and shuttering in: (a) Foundation & Plinth.	Cum	2.70	10000.00	27000.00
21	Centring and shuttering including struting proping etc. and removal of form work for:(a) Foundation and plinth.	Sqm	7.20	1000.00	7200
			Total		s. 47,10,688.00
			Say		Rs. 47,10,688/-

Smining













